HIGH COURT OF ANDHRA PRADESH :: AMARAVATI

REFERENCE: DIRECT RECRUITMENT NOTIFICIATION No.1/2023-APHCLSC, DATED:30.08.2023

EXAMINATION FOR THE POST OF JUNIOR ASSISTANT IN A.P. HIGH COURT LEGAL

SERVICES COMMITTEE.

IMPORTANT INSTRUCTIONS TO THE CANDIDATES:

1.

2.

Answer ALL the questions.
Each question carries TWO marks.
Answer should be on OMR sheet supplied separately.

Return the question paper along with the OMR sheet.

. Read instructions on the OMR sheet carefully.

Only one answer must be given. More than one answer not permitted.

Duration of examination is 60 minutes.




1. India can be regarded as a
'Parliamentary System of Government'’
because the

(A) Lok Sabha is elected directly by the
people

(B) Parliament can amend the
Constitution

(C) Rajya Sabha cannot be dissolved

(D) The Council of Ministers is
responsible to the Lok Sabha
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2. The Constitution empowers the
Parliament to

(1) change the names of the
states

(2) admit new territories

(3) to secede or transfer
territories

Which of the above provision/s is/are
correct?

(A) 2 only

(B)1&2
@2&3
(D)1,28&3
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3. Which of the following are included
in the Directive Principles of State
Policy in the Constitution of India?

(1) Uniform Civil Code for the
citizens

(2) Separation of Judiciary from
Executive

(3) Protection of monuments of
national importance

Select the correct answer by using the
codes given below:

(A)1T &2
(B)2 &3




G 1&3
(D)1,2 &3
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4. The Union Executive in India
comprises:

(1) The President of India
(2) The Vice President of India

(3) The Prime Minister and
Council of Ministers

(4) The Attorney General of
India

(5) The Comptroller and Auditor
General of India

Identify the correct code:
(A)1,3&4

B)1,2&3

1,2 38&4
(D)1,2,3,4&5
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(A)1,3 &4

B)1,28&3

1,2 3&4

D)1,2 3,48&5

5. The power of the Supreme Court of
India to decide disputes between the
Centre and the States falls under its

(A) Advisory jurisdiction
(B) Appellate jurisdiction

(C) Original jurisdiction



(D) Writ jurisdiction
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6. Which one of the following
statements is correct?

(A) In India the same person cannot be
appointed as Governor for two or
more states at the same time.

(B) The Judges of High Court of the
States in India are appointed by the
Governor of the State just as the
Judges of the Supreme Court
appointed by the President.

(C) No procedure has been laid down
in the constitution of India for the
removal of a Governor from his/her
post.

(D) In the case of a Union Territory
having a legislative set-up, the Chief
Minister is appointed by the Lt.
Governor on the basis of majority
support.
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7. The lightning conductor used in
building protects the building by

(A) Disspipating the electric charge
away from the building

(B) Conducting the lightning safely to
the ground

(C) Absorbing the electric charge

(D) None of the above
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8. Which of the following correctly
explains the phenomenon of “Test
Tube Baby"?

(A) When every process of embryo
formation is in the test tube

(B) When the embryo develops in a
test tube

(C) When fertilization is external and
development is internal

(D) When the fertilization is internal
and the development is external
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9. Migratory birds go back to their
earlier habitat in spring as

(A) the weather becomes too hot in the
region to which they have migrated.

(B) a scarcity of food begins in the
regions to which they have migrated.

(C) breeding instincts with changes in
the climate make them move to their
earlier habitat as they breed only in
their habitat.

(D) hunting season commences.
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10. Which of the following pairs is/are
correctly matched?

(1) Homeopathy - Hahnemann
(2) Insulin - Banting
(3) Blood Transfusion - Harvey
(A) 1
(B)1 &2
C)2&3



D)1,2&3
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(A) 1

(B)1 &2

€©)28&3

(D)1,2 &3

11. The most recently discovered Indus
Valley site is .

(A) Hulas
(B) Manda
(C) Rakhigarhi

(D) Banawali
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12. Where are the Dilwara temples
located?

(A) Mount Abu

(B) Jodhpur
(C) Anhilware
(D) Udaipur
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13. The doctrine of Karma in Buddhism
means

(A) Darshan and Puja

(B) The justification of social and
economic inequalities in life

(C) The deeds of a person determine
the status of his life

(D) Doing one's duty without bothering
about the results
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14. Qutubuddin Aibak built a famous

mosque called Adhai Din Ka Jhomphra.

Where is it located?
(A) Delhi

(B) Ajmer

(©) Lahore

(D) Koil
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15. The city of Vijayanagar was

founded on the bank of the river

(A) Cauvery

(B) Krishna

(C) Tungabhadra
(D) Godavari
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16. Buland Darwaza was built to
commemorate Akbar’s victory over

(A) Gujarat
(B) Malwa

(C) Kashmir
(D) Khandesh
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17. Who among the following took the
initiative of forming the Home Rule
Leagues?

(A) Anne Beasant
(B) Bal Gangadhar Tilak
(C) Lala Lajpat Rai
(D) Indulal Yajnik
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(D) @overd SR8

18. What was the ultimate goal of
Gandhi's Salt Satyagraha?

(A) Repeal of salt laws
(B) Curtailment of Government's power
(C) Economic relief to common people

(D) 'Purna Swaraj' for India
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19. Which of the following factors
affect the climate of India?

(A) El Nino
(B) Westerly jet stream
(C) Tibetan plateau

(D) Indian Ocean and Mascarene High
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20. Which one of the following ports of
India handles the highest tonnage of
import cargo?

(A) Calcutta

(B) Kandla

(C) Mumbai

(D) Visakhapatnam
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21. Which of the following factors
affect the distribution of population?

(1) Availability of water
(2) Climate

(3) Availability of Minerals
(4) Industrialization

Select the correct answer using the
code given below:

(A)1,2&3
(B)2 &4
O1,23&4




D)1,3&4
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22. Which one of the following is the
best description of the term
'Ecosystem'?

(A) A community of organisms
interacting with one another

(B) That part of the earth which is
inhabited by living organisms.

(C) A community of organisms
together with the environment in
which they live.

(D) The flora and fauna of a
geographical area.
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23. 'Biodiversity' is important
because

(A) It is necessary to maintain
ecosystems

(B) Humans can use new sources of
food

(C) In the absence of certain species,
photosynthesis may not be possible

(D) Certain species are necessary to
provide oxygen in the atmosphere
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24. Which of the following district of
Andhra Pradesh has a highest
percentage of Urban Population?

(A) Visakhapatnam
(B) Krishna

(C) Sri Balaji

(D) Kakinada
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25. Which of the following ports in
Andhra Pradesh is under the direct
administrative control of the
Government of India?

(A) Gangavaram
(B) Kakinada
(C) Krishnapatnam

(D) Visakhapatnam
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26. The state of Andhra Pradesh has
two zoological parks located in

(A) Nellore & Visakhapatnam
(B) Tirupati & Visakhapatnam
(C) Kurnool & Visakhapatnam
(D) Nellore & Tirupati
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27. Directions: Choose the word
OPPOSITE in meaning to the word
“Sporadic”.

(A) Irregular
(B) Uneven

(C) Frequent




(D) Occasional

28. Directions: Look at the italicized
part of the sentence. Below the
sentence there are some alternatives
given. If any of them is better than the
italicized art, indicate that as your
answer. If none is a proper substitute,
indicate (D) as your answer.

Sentence: Unless he does not give up
smoking, we are not sure of any
improvement in his health.

(A) has not given up
(B) gives up
(C) did not give up

(D) no improvement

29. Directions: The idiom given below
is followed by four meanings. Indicate
the correct one.

Idiom: To fight tooth and nail

(A) To fight a losing battle

(B) To fight heroically

(C) To make every possible effort to
win

(D) To fight with small weapons

Directions for question number 30 &
31: In each question given below, a
sentence was given. The given
sentence may have a grammatically
incorrect part. Identify that. If there is

10

no incorrect part, then mark “No error”
as your answer.

30. Sentence: One should make his
best efforts if one wishes to achieve
success in this organization.

(A) One should make
(B) his best efforts
(C) if one wishes to achieve

(D) No error

31. Sentence: | have done my best; the
whole thing is now in the laps of the
Gods.

(A) | have done my best;
(B) the whole thing is now
(C) in the laps of the Gods.

(D) No error

32. Select the option that can be used
as a one-word substitute for the given
group of words:

Living in the air
(A) Aquatic

(B) Terrestrial
(C) Aerial

(D) Celestial

33. Select the most appropriate
SYNONYM of the word “ADEQUATE".

(A) Deficient



(B) Sufficient
(C) Luxurious

(D) Pompous

34. Select the most appropriate
SYNONYM of the word “DISCLOSE".

(A) Conceal
(B) Cherish
(C) Reveal -

(D) Permit

35. Select the most appropriate
ANTONYM of the word “AFFABLE".

(A) Amiable
(B) Hateful
(C) Courteous

(D) Gloomy

36. Select the word that is CORRECTLY
spelt.

(A) Begining

(B) Biginning
(C) Beginning
(D) Bigning

37. Select the INCORRECTLY spelt
word.

(A) Begger
(B) Calendar

11

(C) Plunder
(D) Surrender

38. Fill in the blank with the most
appropriate word:

Either the manager or the workers
at fault.

(A) is
(B) was
(C) were

(D) am

39. Fill in the blank with the most
appropriate word:

We will ensure that you don't have
complaints in future.

(A) some
(B) few
(C) none

(D) any

40. Fill in the blank with the most
appropriate word:

A of puppies.
(A) herd
(B) litter
(C) flock
(D) shoal

ok
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